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1. Which of the following figures is a regular quadrilateral?

H
G F
F E H
/ J
c D D E F F G G H
sguare rectangle rhombus parallelogram trapezium

(i) trapezium (ii) square (iii) parallelogram (iv) rhombus (v) rectangle

2. In the given parallelogram, which of the following statements are true?

a) Kis the
b) GH | 1)

mid point of HJ

c) HK=KG

d) JG | HI
e) AHJG=

AlIG
J

G

(i) {eb}

H

(i) {c,a,b} (iii) {c,a} (iv) {a,b,d}

(v) {c.ed}



3. In the given parallelogram, which of the following statements are true?

a) HK=KI

b) AHIG=AlG

c) JG|HI

d) LHKG = LJKI
)

e) Kis the mid point of HJ

] |

G H

(i) {b,d} (i) {a,c} (i) {c,d,e} (iv) {a,b,e} (v) {acd}

4. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then GH |
] |

G H

() JG (i) GI (iii) H (iv) HI (v) 1

5. In parallelogramJKLM, diagonals KM and JL intersect atN. Then LM ||
M L

J K

(i) JL (i) JK (i) MJ (iv) KL (v) KM

6. In parallelogramIJKL, diagonals JL and IK intersect atM. Then LI ||
L K

| J

(i) JL (i) U i) 1K (iv) KL (v) JK



7. In parallelogram CDEF,diagonals DF and CE intersect atG. Then DE |
%
C D
(i) EF (iiy CD (iii) FC (iv) CE (v) DF

8. In parallelogram ABCD, diagonals BD and AC intersect atE. ThenAB =

(D] C
%
A B

(i) AC (ii) DA (iii) BD (iv) CD (v) BC

9. In parallelogram OPQR, diagonals PR and OQ intersect atS. ThenQR =
R Q

O p

(i) OP (ii) RO (iii) OQ (iv) PQ (v) PR

10. In parallelogram OPQR,diagonals PR and OQ intersect atS. ThenRO =

R Q
%
O P

(i) PQ (ii) OP (iii)) OQ (iv) QR (v) PR

11. In parallelogramKLMN, diagonals LN and KM intersect atO. ThenLM =

(i) NK (ii) LN (iii) MN (iv) KM (v) KL



12. In parallelogram FGHI, diagonals Gl and FH intersect at). Then AIFG =
| H

§

-n

(i) AFGH (ii) AGHI (iii) AHIF (iv) AHIJ (v) AFG)

13. In parallelogramIJKL,diagonalsJL and IK intersect atM. Then AJKL =

]'_
-~

(i) AUM (i) AK (i) AKLM (iv) AL (v) AKLI

14. In parallelogram ABCD, diagonals BD and AC intersect atE. Then ACDA =
D C

X

A B

(i) ACDE (ii) ABCD (iii) AABE (iv) ADAB (v) AABC

15. In parallelogramBCDE, diagonals CE and BD intersect atF. Then ABCD =
E D

X

m

C

(i) ADEB (ii) AEBC (iii)) ACDE (iv) ABCF (v) ADEF



16. In parallelogramIJKL,diagonalsJL and IKintersect atM. Then £LIJ =
K

—

X

! J
(i) LUK (i) £KLM (i) ZJKL (iv) £KLI (v) ZlIM

17. In parallelogram DEFG, diagonals EG and DF intersect atH. Then LEFG =
G F

X

a

E

(i) £LFGH (ii) 4DEH (iii) 4DEF (iv) 4GDE (v) 4ZFGD

18. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then ZNOP =
Q P

\

=

]

(i) £OPQ (ii) £QNO (iii) £PQN (iv) 4ZNOR (v) ZPQR

19. In parallelogram FGHI, diagonals Gl and FH intersect at). Then ZHIF =
! H

M

G

(i) £FGH (ii) £FG) (iii) 4£Hl) (iv) £GHI (v) ZIFG



20. In parallelogramPQRS, diagonals QS and PR intersect atT. ThenRT =

S R
P Q

(i) QR (ii) ST (iii) PT (iv) QT (v) SP

21. In parallelogram]KLM,diagonals KM and JL intersect atN. ThenJN =

%
J K

(i) M) (i) KN (iii) KL (iv) MN (v) LN

22. In parallelogramPQRS, diagonals QS and PR intersect atT. ThenST =

5 R
:T:
P Q

(i) PT (ii) QT (iii) SP (iv) QR (v) RT

23. In parallelogram OPQR, diagonals PR and OQ intersect atS. ThenPS =
R Q

o P

(i) RO (ii) PQ (iii)) QS (iv) RS (v) OS

24. In rhombusLMNO, diagonals LN and MO intersect atP. Then LM ||
0 N

—

M

(i) MO (i) NO (iii) OL (iv) MN



25. In rhombus OPQR, diagonals OQ and PR intersect atS. Then QR ||
R Q

O P

(i) PQ (ii) OP (iii)) RO (iv) PR

26. In rhombusKLMN, diagonals KM and LN intersect atO. Then NK ||
N M

X

K L

(i) KL (i) LM (iii) LN (iv) MN

27. In rhombusJKLM, diagonals JL and KM intersect atN. Then KL ||
M L

J K

(i) MJ (i) JK (iii) LM (iv) KM

28. In rhombusBCDE, diagonals BD and CE intersect atF. ThenBC =
E

N
BC

(i) DE (ii) EB (iii) CD (iv) CE



29. In rhombusKLMN, diagonals KM and LN intersect atO. Then MN =
N M

-~

L

—

i) LN (ii) KL (iii) NK (iv) LM

30. In rhombusEFGH, diagonals EG and FH intersect atl. ThenHE #
H €]

X

=

F

(i) EF (ii) FH (iii) GH (iv) FG

31. In rhombusCDEF, diagonals CE and DF intersect atG. ThenDE =
E

-

X

C ()

(i) EF (ii) DF (iii)) CD (iv) FC

32. In rhombusEFGH, diagonals EG and FH intersect atl. Then AHEF =
H G

X

m

F

(i) AFGH (ii) AEFG (iii) AIEF (iv) AGHE

33. In rhombusCDEF, diagonals CE and DF intersect atG. Then ADEF =
E

-

o

C D

(i) ACDE (ii) AFCD (iii) AGCD (iv) AEFC



34. In rhombusPQRS, diagonals PR and QS intersect atT. Then ARSP =
5 R

P Q

(i) ASPQ (ii) APQR (iii) AQRS (iv) ATPQ

35. In rhombusDEFG, diagonals DF and EG intersect atH. Then ADEF =
G F

D E

(i) AGDE (ii) AEFG (iii) AHDE (iv) AFGD

36. In rhombusBCDE, diagonals BD and CE intersect atF. Then AFBC
E D

B C

(i) AEBC (ii) AFBE (iii)) AFDE (iv) AFDC

37. In rhombusDEFG, diagonals DF and EG intersect atH. Then AHFE &
G F

D E

(i) AHFG (ii) AHDG (iii) AGDE (iv) AHDE



38. In rhombusKLMN, diagonals KM and LN intersect atO. Then AOMN &
N M

NP/
LN

K L

(i) AOML (ii) AOKN (iii) ANKL (iv) AOKL

39. In rhombuslJKL, diagonals IK and JL intersect atM. Then AMIL
L K

! J
(i) ALl (i) AMK) (i) AMI (iv) AMKL

40. In rhombusKLMN, diagonals KM and LN intersect atO. Then ZNKL=
N M

K L

(i) £KLO (ii) £ZKLM (iii)) ZLMN (iv) £ZMNK

41. In rhombus]KLM, diagonals JL and KM intersect atN. Then ZKLM =
M L

| K

(i) ZMJK (i) ZJKL (i) ZLMJ (iv) ZJKN

42. In rhombusBCDE, diagonals BD and CE intersect atF. Then ZBCD =
E D

B C

(i) £CDE (ii) 4DEB (iii) £EBC (iv) 4BCF



43. In rhombusABCD, diagonals AC and BD intersect atE. Then LZCDA=
D C

A B

(i) £LABE (ii) £4DAB (iii) 4BCD (iv) £ABC

44. In rhombusOPQR, diagonals OQ and PR intersect atS. Then £PSO =
R Q

O o

(i) £LOSR (ii) £RSQ (iii) £QSP (iv) £LROP

45. In rhombusKLMN, diagonals KM and LN intersect atO. Then ZNOM =
N M

K L

(i) £KON (ii) £NKL (iii) £MOL (iv) 4ZLOK

46. In rhombus MNOP, diagonals MO and NP intersect atQ. Then ZMQP =
P 0

M N

(i) £NQM (ii) £OQN (iii)) £PQO (iv) £ZPMN



47. In rhombusPQRS, diagonals PR and QS intersect atT. Then ZRTQ #

) R
i /\fT:. ;
P Q

(i) £QTP (ii) £STR (iii) £4SPQ (iv) ZPTS

48. In rhombusKLMN, diagonals KM and LN intersect atO. Then ZOKL =

N M
K L

(i) £OMN (ii) £KON (iii)) £ZNKO (iv) 4ZLMO

49. In rhombus|JKL, diagonals IK and JL intersect atM. Then ZMKL =
L K

| J
(i) £JKM (i) ZIML (iii) £MIlJ (iv) ZLIM

50. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ZQNR =
Q P

N o

(i) £LRPQ (ii) £ZRNO (iii) £NRQ (iv) 4ZOPR



51. In rhombusMNOP, diagonals MO and NP intersect atQ. Then ZNOQ =
P O

X

=
=

(i) £QMN (ii) £MQP (iii) £PMQ (iv) £4QOP

52. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZPOL #
0 N

X

—

M

(i) £LNOP (ii) £PMN (iii) £ZOPN (iv) ZLMP

53. In rhombusBCDE, diagonals BD and CE intersect atF. Then LFCD =
E D

X

ux]

C

(i) £DEF (ii) £EFD (iii) 4£BCF (iv) 4FEB

54. In rhombusCDEF, diagonals CE and DF intersect atG. Then LCDG #
F E

X

M

D

(i) £GDE (ii) LEFG (iii) 4FGE (iv) 4GFC



55. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then £ZPQR #
Q P

}

=

0]

(i) £ZRQN (ii) £ZROP (iii) £QRP (iv) £4NOR

56. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then)K=
] |

X

@

H

(i) 1K (i) JG (iii) HK (iv) GK

57. In rhombusPQRS, diagonals PR and QS intersect atT. ThenQT=
5 R

X

-

Q
(i) ST (ii) PT (iii) RT (iv) SP

58. In rhombusABCD, diagonals AC and BD intersect atE. ThenAE =
D c

X

A B

(i) DA (ii) BE (iii)) DE (iv) CE



59. In rhombusEFGH, diagonals EG and FH intersect atl. ThenGl=
H G

E F

(i) EI (ii) FI (iii) HE (iv) HI

60. In trapeziumKLMN, KM and LN are diagonals. Then KL ||
N M

K L

(i) LM (i) KM (iii) NK (iv) LN (v) MN

61. In trapeziumABCD, AC and BD are diagonals.Then CD ||
D C

A B

(i) BD (ii) BC (iii) AC (iv) AB (v) DA

62. In kiteFGHI, FH and Gl are diagonals. ThenFG =
H

F

(i) 1F (i) HI (iii) GH (iv) GI (v) FH



63. In kiteBCDE, BD and CE are diagonals. ThenEB=
D

B

(i) DE (ii) BC (iii)) CD (iv) BD (v) CE

64. In kiteKLMN, KM and LN are diagonals. ThenLM =
M

K

(i) NK (ii) MN (iii) KL (iv) LN (v) KM

65. In kiteNOPQ, NP and OQ are diagonals. ThenPQ =
P

N

(i) OQ (ii) QN (iii) NP (iv) OP (v) NO



66. In kiteNOPQ, NP and OQ are diagonals. Then ZNOP =
P

N

(i) £NQO (ii) £ZNRO (iii) £PQN (iv) £ZPQO (v) 4ZNRQ

67. In kiteKLMN, KM and LN are diagonals. Then ZMNK =
M

K

(i) £KON (ii) £KOL (iii)) £ZKLM (iv) ZKNL (v) ZMNL

68. In kiteNOPQ, NP and OQ are diagonals. Then ZNRQ =
P

N

(i) £NQO (ii) £NOP (iii) 4PQN (iv) £4ZNRO (v) 4PQO



69. In kiteHIJK, HJ and IK are diagonals. Then ZHLI=
J

H

(i) ZJKI (i) ZJKH (iii)) £ZHKI (iv) £ZHI} (v) £ZHLK

70. In kiteLMNO, LN and MO are diagonals. Then ANOL =
N

L

(i) AOML (ii) ANML (iii)) APOL (iv) APNM (v) AOMN



71. In kitelJKL, IK and JL are diagonals. Then AKJl =
K

(i) AMK) (i) AKLI (i) ALK (iv) AMLI (v) AL

72. In kiteEFGH, EG and FH are diagonals. ThenAIHE=
G

E

(i) AIGH (ii) AHFG (iii) AIFE (iv) AHFE (v) AIGF

73. In kiteKLMN, KM and LN are diagonals. Then AOLK =
M

K

(i) ANLK (ii) AOML (iii)) ANLM (iv) AOMN (v) AONK



74. In kite ABCD, AC and BD are diagonals. Then AECD =
C

A

(i) AEBA (ii) AECB (iii) ADBC (iv) ADBA (v) AEDA

75. In kiteHIJK, HJ and IK are diagonals. Then ALl =
]

H

(i) ALKH (ii) ALIH (iii) AKIH (iv) ALK (v) AKl

76. In kitel)KL, IK and JL are diagonals. Then ZLIM =
K

(i) £JIM (ii) £LMK (iii) £ZMKL (iv) 4ZMK] (v) ZIML



77. In kite MNOP, MO and NP are diagonals. Then ZNMQ =
o

M

(i) £PQO (ii) £PMQ (iii) £ZQON (iv) £ZMQP (v) 4£QOP

78. In kiteHIJK, HJ and IK are diagonals. Then £ZLJK=
J

H

(i) £IHL (i) £y (ii) £KL (iv) £ZKHL (v) ZHLK

79. In kite OPQR, OQ and PR are diagonals. Then £LSQP =
Q

o

(i) £SQR (ii) £POS (iii) £ZROS (iv) £OSR (v) ZRSQ
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